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YT B T o BT & -

(A) NHj &1 dogd

(B) NO3 &I Jqo

(C) TEsIH

(D) SWH # | B &l

fforRad o | e el bl GERA

BT U ?

(A) T e

(B) URRISCH fHelTan
(C) Sfod I e
(D) SUda # ¥ DS T

ffeiRad # & DIF-1 98 (Ug) STefshr=d
A B foly Suge & ?

(A) M

(B) <M

©) 99

(D) FHfored

AT & RO W R B 2 2

(A) 3l a1 BT dITE BH T 2 |
(B) 3l HaT &7 UI-Ud, 9 & |

(C) &RM Ha1 &7 U-Ud, 9T & |
(D) SUYa H A Bl 7l

Ag-704

(3)

Waterlogging for soil is :

(A) Accumulation of NH }

(B) Accumulation of NO3
(C) Nitrification

(D) None of the above

Which of the following methods is
used for reclamation of waterlogged
soil ?

(A) Add lime

(B) Add pyrites

(C) Well water drainage

(D) None of the above

Which of the following trees is most

suitable for waterlogged condition ?

(A) Neem
(B) Mango
(C) Babul

(D) Eucalyptus

What is done by waterlogged ?
(A) Decreases pH of acidic soil.
(B) Increases pH of acidic soil.
(C) Increases pH of alkaline soil.

(D) None of the above
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5. f=foRed § ¥ o= S=g 9w iR} 5. Which of the following is not highly salt

—— L Y resistant crop ?
(A) TRa! (A) Mustard
(B) Sl (B) Barley
C) T (C) Sugarbeet
(D) HUN (D) Cotton

6. frgd 3R MRA URIRIgCH - &l TN 6. Gypsum and iron pyrites are used for

......................... 1 R ¥ 2 2 reclamation of .................
(A) oqUITI T (A) Saline soil
(B) &RIF Hal (B) Alkaline soil
(C) ARG Tl (C) Calcareous soil
(D) 31T FaT (D) Acidic soil
7. WRA ¥ T HET F TG © - 7. Areaof acidic soil in India is :
(A) 140 Mha (A) 140 Mha
(B) 26 Mha (B) 26 Mha
(C) 90 Mha (C) 90 Mha
(D) 6.74 Mha (D) 6.74 Mha
8. et 3MaIddr (LR) WHIf¥d B 8.  Leaching requirement (LR) is related to :
(A) @ gaT 4 (A) Saline soil
(B) &RI¥ 7aT A (B) Sodic soil
(C) 3 Fehe Jal | (C) Acid sulphate soil
(D) TSI HaT ¥ (D) Waterlogged soil

Ag-704 (4) Set-C



9. WGl YGUY $ HW AeaqY PRV & : 9.

(A) B

(B) wIR<®

(C) 3UANI®

(D) PN SrESaTES

10. fy=feiRad & 9 fodga! aiftddd SyaRk & 10.

forg T v € 2

(A) -8RI 3ara
(B) &I

(C) I Ui

(D) THHRM ERT Jara

11. w.l_qﬁ_cﬁ ﬁ.fa Gl Q?ﬂ'lT ........................... Em. 11.

(B) &R HaT
(C) (A) 3R (B) &l
(D) Suga H A Bl el

12. ¥R 9T fa9 e iU @ 12.

(A) SR A
(B) TR A
(C) A ¥
(D) HmTe #

Ag-704 (5)

Main  important cause of  soil

pollution is :

(A) Glass

(B) Plastics

(C) Detergents

(D) CO;

Which of the following is used in sewage
treatment ?

(A) B.G.A.

(B) Fungi

(C) Allplants

(D) Single-cell green algae

Chemical method is used for reclamation
(0] NPT :

(A) Saline soil

(B) Alkaline soil

(C) Both (A)and (B)

(D) None of the above

Indian Institute of Soil Science is
established in :

(A) Jodhpur
(B) Nagpur
(C) Karnal

(D) Bhopal

Set-C



13.

14.

15.

16.

FAUI-RY JaT H &) Wie & forg wew 13,

SUYF HEd T -
(A) IH
(B) dfar
(C) e

(D) WTeH

3t aut &1 = HROT B 14,

(A) CO, TR0,
(B) CO, T H,0
(C) SO, AT NO;

(D) CO T CO,

B Y&l olquiT e e Reg 15,

2
(A) BHER 4
(B) XA H

(C) TR H
(D) WU H

WA 8T T el ReToT v Rerd & 16.

(A) <EIg H
(B) TxAA H

(C) HuTe H
(D) R #

Ag-704 (6)

Most suitable crop of green manuring for

salt affected soil is :

(A) Berseem
(B) Lobiya
(C) Dhaincha

(D) Sunhemp

Main cause of acid rain is :
(A) COzand O,

(B) CO;and H,0

(C) SO;and NO;

(D) COandCO,

Central Soil Salinity Research Institute
(CSSIR) is situated in :

(A) Kanpur

(B) Karnal

(C) Nagpur

(D) Bhopal

Indian Institute of Soil and Water

Conservation is located at :

(A) Dehradun
(B) Karnal
(C) Bhopal

(D) Nagpur

Set-C



17 Alkaling T R T 3
forar T 2|
(A) AATaS
(B) Weied
(C) e
(D) SWH # | B &l

18. el 3WReT & foy STReErl &
(A) T Pl FerE
(B) 3w =
(C) RIFFIRT Wil
(D) Suda Wl
19. THfiRad § | BI9-91 SRS 3 Hal
BT IR H YANT Bl © °
(A) IR Teme

®) IR
(C) RIP Wi

(D) Suga H A Bl 7Tl

20. aUI-&TRId gerall @ i &whel ¢ :
(A) ST U
(B) WU ySY
(C) Uud

(D) 7oK

Ag-704 (7)

17.

18.

19.

20.

‘Alkaline’ word is derived from Russian
word ............... :

(A) Solonchak

(B) Solonetz

(C) Solum

(D) None of the above

Factor responsible for soil erosion is :

(A) Deforestation

(B) Overgrazing

(C) Shifting cultivation

(D) All of the above

Which of the following fertilizers is used
for reclamation of acidic soil ?

(A)  Ammonium sulphate

(B) Urea

(C) Basicslag

(D) None of the above

Largest salt affected soil area is :
(A) U.P.
(B) M.P.
(C) Punjab

(D) Guijarat

Set-C



21.

22,

23.

24,

qg Yfsha forady Ja1 ¥ gorelie ofaul o
Fag BT 8, B §

(A)  ER-IHT

(B) UTIIIHROT

(C) oauitexYT

(D) SR H ¥ Pz T

frferRad & & @i el a1 HF FERA
4 YN AT BT §

(A)
(B)

(©)
(D)

CaS04.2H,0
CaCOs

Ca0
Ca(OH),

BT b B
forg o= 2

(A) T TP UG

(B) Wl SURGH
(C) fauliepRur
(D) drg SRa
fd%g HaT foad #r Sl & -
(A) 5 TaR Bl

(B) 5 fcIwR @l

(C) 5 S @

(D) 10 Jellg I

Ag-704

(8)

21.

22.

23.

24,

The process of accumulation of soluble
salts in the soil is called :

(A) Alkalinization
(B)
(©)

(D)

Laterization
Salinization

None of the above

Which of the following is not used for

reclamation of acidic soil ?

(A) CaS04.2H,0
(B)
(©)

(D)

CaCO3
CaO
Ca(OH),

Shelterbelts are used for control of

(A)
(B)
(©)
(D)

Gully erosion
Water erosion
Salinization

Wind erosion

World Soil Day is celebrated on :
(A) 5th November
(B) 5th December
(C) 5th June

(D) 10th July

Set-C



25.

26.

217.

28.

ST AT TR W €
(A) U
(B) TR
) sl

(D) 91

AT HaT DT P Fel Wi &
(A) HieAReATEe

(B) FelIge

(©) wHigarEe

(D) wferTge

G Hal & g9 DI el H Y&l WA
R o A A | G s S | B

HEA B

(A) TIpfdd FIREH

(B) WRA 3ReA

(©) (A) 3R (B) 3l
(D) Suga H A Bl 7Tl

foegm & grr 9 ®

(A) 20% Ca, 16% S
(B) 28% Ca, 20% S
(C) 20% Ca, 22% S
(D) 23% Ca, 18.6% S

Ag-704

25.

26.

27.

28.

Highly acid tolerant crop is :

(A) Cotton
(B) Carrot
(C) Mustard

(D) Tea

Dominant clay mineral of acidic soil is :
(A) Montmorillonite

(B) Chlorite

(C) Vermiculite

(D) Kaolinite

The removal of soil taking place at more

faster rate than that formation is

called :

(A) Natural erosion
(B) Accelerated erosion
(C) Both (A) and (B)

(D) None of the above

Gypsum contains :

(A) 20% Ca, 16% S
(B) 28% Ca, 20% S
(C) 20% Ca, 22% S
(D) 23% Ca, 18.6% S

Set-C



29. oIqUiy 4T H UR S ATl ofquli T g 29,

g
(A)
(B)
(©)
(D)

30. WM el & fagd dredar (8. 91) © 30.

(A)
(B)
(©)
(D)

31. U9 0. Ul ARG | @Ol o 31.

(A)
(B)
(©)
(D)

32, G-ua. v W-eN UA @l AWM Wed 32

NaCl + Na,SO,
Na,CO3 + Na,SOq4
Na,CO3; + NaHCO;

NaCl + Na,CO3

>4.0
>3.0
<20

<10

g 9L
IR
q1-ua.

BT ©

(A)
(B)
(©)
(D)

Ag-704

10
14
8

12

(10)

Group of salts found in saline soils is :

(A) NaCl + Na,SO,
(B) Na,CO3 + Na,SO,
(C) Na,CO3 + NaHCO;

(D) NaCl + Na,CO3

Electrical conductivity (EC) of normal
soil is:

(A) >4.0

(B) >3.0

(C) <20

(D) <1.0

S. P. L. Sorenson discovered :
(A) EC

(B) CEC

(C) pH

(D) RSC

Sum of pH and pOH is always :

(A) 10
(B) 14
(C) 8

(D) 12

Set-C



33. fdeggd areieal &1 Wl 3PIg © : 33. Correct unit of electrical conductivity

(EC) i :

(A) dSm (A) dSm

(B) DSm* (B) DSm*

(C) DSM* (C) DSm*

(D) SUYa H A Bl el (D) None of the above

34 ¥RJ H aryg &Rol g garfad el gy g 34. Total area affected by wind erosion in

ST India is about :

(A) 50.0 Mha (A) 50.0 Mha

(B) 13.5Mha (B) 13.5Mha

(C) 18.0 Mha (C) 18.0 Mha

(D) 49.0 Mha (D) 49.0 Mha

35, YR § 9 Td &R HqaT @l g 35. Total area of salt affected soils in

3 India is :
(A) 49.0 Mha (A) 49.0 Mha
(B) 6.74 Mha (B) 6.74 Mha
(C) 20.0 Mha (C) 20.0 Mha
(D) 15.0 Mha (D) 15.0 Mha
36. UI-U9 40 ¥ T dTell HaT ST & 36. Soil having pH < 4.0 is called :
(A) 3T Jer (A) Acidic soils
(B) ticIse Yol (B) Laterite soils
(C) &R F_rR (C) Alkaline soils
(D) 3 Fehe Fari (D) Acid sulphate soils

Ag-704 (11) Set-C



37.

38.

39.

Ag-704

dauiid U4 aRIg e gegd: Ul ol
g :

(A) T T JEY wferarg 4

(B) -SR] H

(€) wHfaT Serary o

(D) SWa ¥ ¥ IS T

faf v AifsTm ufed (ESP) @1 oM @1
ST &

Exchangeable Na*

) CEC

x 100

Na*

(B) Q/Ca + Mg/2

(C) CO3 +HCO3 - Ca+ Mg
(D) SH # ¥ P T

A geRi S S

(A) el R

(B) BT &R

©) (A) IR (B) <

(D) T 3FFlTaT

(12)

37.

38.

39.

Salt affected soils are generally found

in:

(A) Arid and semiarid climate

(B) Humid climate

(C) Temperate climate

(D) None of the above

Exchangeable sodium percentage (ESP)

is calculated by :

Exchangeable Na*
CEC

(A) x 100

Na*t

B -
(B) a/Ca + Mg/2
(C) CO3 +HCO3 - Ca+ Mg

(D) None of the above
Saline soils are known as :
(A) Black alkali

(B) White alkali

(C) Both (A) and (B)

(D) Soil acidity

Set-C



40. 98 Ha1 foder d-va. 85-100, fafHa 40.  Soil having pH > 8.5-10.0, E. S. P. > 15

AR e 15 O oG qor R and EC < 4.0 dSm* is known as :
AT 40 dSm™ T FH B €, PEaA!
2
(A)  <fdU (A) Saline
(B) &RM (B) Alkaline
© ﬂﬁ?l’\’ (C) Calcarious
(D) 3ilg (D) Acidic
41, a1 MR & foly ITRarl 2 41. Factor responsible for land degradation :
(A) ¥ JURSA (A) Soil erosion
(B) IqUIgdl UG &R (B) Salinity and alkalinity
(C) 3Figd (C) Acidity
(D) Sugad FI (D) All of the above

42. I NR BT TP UM W R WM W 42, Detachment and transportation of soil

mass from one place to another place is

HCHY STl HEd &

called as :
(A) &I 3REA (A) Soil erosion
(B) HaI WxR (B) Soil horizons
(C) 9T UgmY (C) Soil pollution
(D) SUYa H A Bl 7l (D) None of the above

Ag-704 (13) Set-C



43. UIgNIgCHd Bl IUTGH 3P BIar 2 43. Production of pyrites is more in :

(A) ORI H (A) Rajasthan
(B) R # (B) Maharashtra
(C) farH (C) Bihar
(D) SR HeT § (D) U.P.

44. Gg RIS L] aﬁw W H 3R 44. Acidity developed due to adsorbed H*

AP T S AR B S 2 and AI** ions on the soil colloids is
_ called :

S¥ P ¢

(A) fhg sl (A) Active acidity

(B) T arelirar (B) Exchangeable acidity

(C) AR ariiar (C) Residual acidity

(D) Sugad F4I (D) All of the above

45 Torg T3l B W-vd. 7 9 85 & d1d Bl 45. Soil having pH between 7 to 8.5 is

3 qe wEad) 2 called :

(A) oqUg e (A) Saline soil

(B) +iIT gar (B) Acidic soil
(C) IrYad qaT (C) Calcareous soil
(D) WIfed Fal (D) Sodic soil

Ag-704 (14) Set-C



46.

47.

48.

Ag-704

AT (CaCOs) &I WART
# B 2 |

Pl R

(A) &R T

(B) Al

(C) ©ieIge Tl

(D) I a1

LI UG G e R R |
g

(A) A=RxKxLxSxCxP

(B) A=RxKxRxSxCxP

(C) A=RxKxLxMxCxP

(D) SWa ¥ ¥ IS T

LIS U |G O C U S IR CE I K|
foa o

(A) 4. 4. Sigeg J

(B) . ofF A

(C) fIvMRR vd Rwer 9

(D) SUYa H A Bl 7l

(15)

46.

47.

48.

CaCO3; (lime) is added to reclaim

(A) Alkali soil
(B) Saline soil
(C) Laterite soil

(D) Acidic soil

The universal soil loss equation (USLE)

is expressed by :

(A) A=RxKxLxSxCxP
(B) A=RxKxRxSxCxP
(C) A=RxKxLxMxCxP

(D) None of the above

The universal soil loss equation (USLE)

was developed by :

(A) V.V.Dokuchaev

(B) J. Thomas

(C) Wischmeier and Smith

(D) None of the above

Set-C



49. fyfoRad # & B9 917 aReA @1 YHR 49. Which of the following is not a type of

T2 wind erosion ?

(A) SIRIIT AT IBeH (A) Saltation

(B) e (B) Illuviation
(C) Froad (C) Suspension
(D) W—W (D) Surface-creep

50. fyefoiRed & & foes 9y oRed o 50.  In which of the following is more wind

Bar 2 ? erosion ?

(A) SIRIIA AT FBeH (A) Saltation

(B) [Fremvad (B) Suspension

©) IIES—W (C) Surface-creep

(D) Suga H A Bl 7Tl (D) None of the above

51. US-9UY UfhAT H B BT AHR B 51. Particle size of surface-creep process

s IS :

(A) >0.5mm (A) >0.5mm

(B) <0.5mm (B) <0.5mm

(© <0.2mm (C©) <0.2mm

(D) ija\——r ¥ 3 Blg el (D) None of the above

Ag-704 (16) Set-C



52. FHfaiRad § 9 @M I 3TREA & U@
YR § ?
(A) e
(B) Fefrer™
(C) WRd 3UREA
(D) AdulehRoT
53. 3URre Wf$yH FEMe (RSC) & VM
CARSIGIRE
(A) (Ca** + Mg*+) — (CO3~ — HCO3)
(B) (CO%~ + HCO3) — (Ca*™ + Mg*™)
(C) (Ca** —Mg**) — (CO3~ — HCO3)
(D) (CO%~ — HCO3) + (Ca** + Mg™™)
54,  TAUII-ETRIT HaT @1 o 2
(A) EC>4dSm™ pH>85 ESP<15
(B) EC>4dSm™ pH<85,ESP>15
(C) EC>4dSm™ pH>85 ESP>15
(D) EC>4dSm™ pH<85,ESP<15
55. fT=I9 @Y AT (G. R.) IR © -
(A) A garel |
(B) 3Tl Fehe FarRll |
(C) T IR 4
(D) &RIT Feml |
Ag-704

(17)

52.

53.

54.

55.

Which of the following is a type of water

erosion ?

(A) Suspension
(B) Eluviation
(C) Sheet erosion

(D) Salinization

Residual sodium carbonate (RSC) is

calculated as :

(A) (Ca** + Mg**) — (COZ~ — HCO3)
(B) (CO3~ + HCO3) — (Ca*™ + Mg*+)
(C) (Ca™ —Mg**) — (CO%~ — HCO3)

(D) (CO3~ — HCO3) + (Ca** + Mg**)

Characteristic of saline-alkaline soil is :

(A) EC>4dSm™*, pH>85ESP<15
(B) EC>4dSm™ pH<85 ESP>15
(C) EC>4dSm™ pH>85, ESP>15

(D) EC>4dSm™ pH<85 ESP<15

Gypsum requirement (G. R.) is related to :
(A) Saline soils

(B) Acidic sulphate soils

(C) Arid soils

(D) Alkaline soils

Set-C



56.

57,

58.

Ag-704

IR |IISTA FEFT & AUR R by
U BT A o Ul @& forg gRidd
g ?

(A) <1.25
(B) 1.25-2.5

C) >25

(D) SUda # ¥ BIg T

T& SYIRET TG0 & AR BN &
forg Iuart o el 2

A -V

(B) V-ViI

©) 1~V

(D) SWad # | BIg T2

ffoiRad # | I STl 3RS & JIR
Tl B ?

(A) Tl AW

(B) Ral 3Red

(C) W 3WREA

(D) US-|UT 3RS

(18)

56.

57.

58.

On the basis of residual sodium carbonate
(RSC) which quality of irrigation water is

safe for plants ?

(A) <1.25
(B) 125-25
(C) >25

(D) None of the above

In land capability classification class not

used in agriculture is :

(A) IV
(B) V-VII
(C) -Vl

(D) None of the above

Which of the following is not a type of

water erosion ?

(A) Splash erosion

(B) Rill erosion

(C) Sheet erosion

(D) Surface-creep erosion

Set-C



59. oM dlell YA ¥ HaT & THFAN WA Bl 59. The uniform removal of soil layers from

ERUT BT PR & the sloping glands is known as :

(A) Rel Red (A) Rill erosion
(B) ST JIRGA (B) Splash erosion
(C) WA WA (C) Sheet erosion
(D) ReMU 3MREA (D) Slip erosion

60. STell AN WEA b9 W SWRed H 60. Which water erosion forms finger like

TN R ? structure ?

(A) Rel wed (A) Rill erosion
(B) ST URGA (B) Splash erosion
(C) WRd JIWaH (C) Sheet erosion
(D) R mReA (D) Slip erosion

Ag-704 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet) T
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & ¢
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